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Algebra 1

Alg I 3.1-3.2 Worksheet
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Draw a graph for each inequality.

1)  v > 5

-7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6 7

2)  v > -2

-7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6 7

3)  k £ -3

-7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6 7

4)  n ³ 2

-7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6 7

Write an inequality for each graph.

5)  
-7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6 7

6)  
-7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6 7

7)  
-7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6 7

8)  
-7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6 7

Solve each inequality and graph its solution.

9)  1 £ b + (-8)

4 5 6 7 8 9 10 11 12 13 14

10)  x - (-7) > 25

15 16 17 18 19 20 21 22 23 24 25
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11)  n - 4 < 1

-3 -2 -1 0 1 2 3 4 5 6 7

12)  18 - p < 22

-10 -8 -6 -4 -2

13)  209 £ 11p

13 14 15 16 17 18 19 20 21 22 23

14)  5 ³ p - (-14)

-16 -14 -12 -10 -8 -6

15)  28 £ n + 12

9 10 11 12 13 14 15 16 17 18 19

16)  -6 < 
x
9

-60 -58 -56 -54 -52

17)  -3 + n £ -2

-5 -4 -3 -2 -1 0 1 2 3 4 5

18)  
b

16
 ³ -17

-278 -276 -274 -272 -270 -268

19)  5m < -75

-18 -16 -14 -12 -10 -8

20)  
p

18
 ³ 19

337 338 339 340 341 342 343 344 345 346 347
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Answers to Alg I 3.1-3.2 Worksheet (ID: 1)

1)  
-7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6 7

2)  
-7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6 7

3)  
-7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6 7

4)  
-7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6 7

5)  x > 1 6)  x < -1 7)  r ³ -5 8)  n £ 1
9)  b ³ 9 :  

4 6 8 10 12 14

10)  x > 18 :  
16 18 20 22 24

11)  n < 5 :  
-2 0 2 4 6

12)  p > -4 :  
-10 -8 -6 -4 -2

13)  p ³ 19 :  
14 16 18 20 22

14)  p £ -9 :  
-16 -14 -12 -10 -8 -6

15)  n ³ 16 :  
10 12 14 16 18

16)  x > -54 :  
-60 -58 -56 -54 -52

17)  n £ 1 :  
-4 -2 0 2 4

18)  b ³ -272 :  
-276 -272 -268

19)  m < -15 :  
-18 -16 -14 -12 -10 -8

20)  p ³ 342 :  
338 340 342 344 346


